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D Resolution with unification as the Central component fa

automated theorem proving in classical FOL

Practical procedure still today ( with many optimizations )

%Earlier procedures have now become practical too
'
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C.lassicalfivst-0rderlog.ci Frege 1879
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an interpretation I that chooses some set U as universe
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Resolution Examples-
goal
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Prolog uses

SLD - resolution := always pure negative clause
always with input clause

selecting left  most subgoal



General Resolution Example
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Thin ( Soundness ) :

Soundness of resolution follows from soundness of unification

Thin ( R . Completeness ) :

Resolution with Factoring derives 1 from M iff Munsat

M t C

M
,

n
C tat


